BD FACSDiva 8.0

=I=Tgm.} [ 1.000]
130 200 250

100

a0

Specimen_001-Tube_001 = Specimen_001-Tube 007 o Specimen_001-Tube_001 Specirmen_001-Tube_001
. o 2
- i P3 (pa |ps [|RE I -
Ss 5° N
& S _ re an
RN — g Y | ol b, f\ - i, ﬂ[\ l
0 s 0 10° 107 10*

wo__ 150 00 250 o 10? 107 1t 108 0 ? 1 10* 105 108
FEC-A fi¢ 1,000 -126 FITC-A -143 PE-&. -12 PE-Cih-d
- Specimen_001-Tube 001 Specirnen_001-Tube_001 Specirnen_001-Tube_001
£ = £
= = =
S& Se S_
= e - M‘W"\‘L . I I I = i
010 107 n* 107 2 a a 5 1 a 5
- A o4 g 0 ., o 10 =6 0 A‘F'Dc-t:y?-ﬁ 10 10
Specimen_001-Tube 001 Specimen_001-Tube_001
2 Tube: Tube_001
. Population #Events “%Parent %Total
= . All Events 2754 HiEE 1000
. 2 - -l P1 2,280 828 828
3 = - [ P2 258 11.3 94
] ST - P3 287 126| 104
- -] P4 286 125 104
& b [l P5 278 122 101
-] P& 292 12.8 10.6
i -l P7 275 121 100
I A}“\ - Ps 274 120/ 99
= = -l PG 319 14.0 1.6
0 10f 107 0* 107 w' 1nf 107 10 107 -
e DAFI-A = AmCyan-&



